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1. (15%)) #g(x), h(z)2EEP LMZHA, O(g(x)) = m,d(h(x)) = n,
H(g(x),h(x)) = 1. X&f(x)EP LT NRE< n + miy2 . iE:
fitir(xz), s(x) € Plx]fifd

f(x) =r(z)g(z) + s(x)h(x),

Her(x) = 085(r(x)) < n, d(s(x)) < m.

2. (20%) w=cdEFR&EM T EAAX = bMREUEMNHKr(A) = 1
XEAN=HTE, X = (z1,T2,23), b = (b1,b2,b3)" # 0. ©
Kn, m2, N3 AX = b=AMEmE, nn + n: = (1,2,3), m2 + ns
(0,—1,1), ns +n1 = (1,0, —1)’, RiZFRAMELRER.

3. (20%) WANNMITIIE, AM(i, 5)-TEEay; = |i — 4|, RIFHIR| A1,

4. (205) EHlay, o, cugft = HEK R V 1415, FLix 410 e B IR Ny
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5. (204)) RV RMUKP Flmdditai, Vi 2V T4 Adim V; > 2.
(1) W eV IOT 2 Wy, Waltfd

V=VieW, =V, @ W,,iiW, N Wy = {0};
(2) m: Hdim Vi < S, ERSIRRBRAL? AT

6. (204) #f(z),g(x)R¥HP EEHR, (f(x),g(x) = 1, ARPE
HnB 7. L8 £(A)g(A) = 04 HM 4T (£(A)) + r(g(A)) = n.

7. (207) BAREHIRC EWE DB I,
(1) B R AR AR, EY: AAAEC BRI W7 BT 45

>\1 b12 bln

_ 0 b22 b2n
T 1AT = ;

0 bn2 e bnn
(2) XnfERgNEIER, ADFHLT —A b= MR
A1 Ci2 **+ Cip

Ao +++ Cop

An

8. (1547) HARNAERK IRV R, iF: Vo € VA (Ao, a) >
0 17853 B AT S AR AEE 422 3R S 8L
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